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N.B.: (1) All questions are compulsory.
' (2) All questions carry equal marks.

1. Attempt any two of the followmg - e 1B
(a) Explain the role of agriculture in econornic development. ‘
(b) Explain the causes of low productivity in Indian agncultur&
(c) Discuss the problems of agriculture labour. o

2. Attempt any two of the following :— ' 15
' (a) Explain the institutional sources of agricultural c¢redit in India.
(b) Explain the causes of Rural Indebtedness. fo
(c) Explain the Role and performance of NABARD.

3. Attempt any two of the following :— > ' 15
(a) Explain the various types of agricultural marketing.
(b) Explain the problems of Agricultural Marketing.
(¢) Explain the WTO agreement on idian agriculture.

4. Attempt any two of the following :- 15
(a) Explain the new agricultural policy 2007.
(b) Explain food security plan in India.
(c) Explain Agro—Tou;ifS_ﬂei'and its policy in India.

5. Write short notes on anv three - 15
(a) Water Manarrément and Agriculture development.
(b) Micro F_mance ' :
(c) Measmc,a of problcms in Agricultural Marketing.
(d) Agricultural crisis and farmer’s suicide.
(e) Cropping pattern.
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